
Basic Maths
Problem Set 1



𝛖

• 1111111 = W. of the A. W.
• 1111 = Q. in a G.



𝛗

• 111 = D. in a W.
• 1010 = Y. in a D.



𝛐

• 110 = M. in a Y.
• 10100 = D. in a R. A.



𝛆, 𝛍, 𝛙

• 111 = B.-R. F.
• 101 = L. in the A.



𝛊

• 154 = L. about 62 W.
• 143 = D. that P. F. went A. the 
W.



𝛌

• 31 = C. in a Q.
• 1751 = N. in the A. N.



𝛈

• 66 = M. in an H.
• 121 = Y. in a C.



𝛘

• 24 = D. in F. (except in a L. Y.)
• 20 = H. in a D.



𝛉, 𝛏, 𝛔

• 160 = (M.) C. in a T.
• 44 = S. in a M.



𝛑

• 35 = S. in the U. S. of A.
• 51 = T. that L. the B. P.



𝛄

• 120 = D. in a C.
• 632 = P. in a (S.) T.



𝛂

• 105 = D. in a L. Y.
• 54 = P. for J. Z.



𝛋, 𝛕

• 22 = the A. to L., the U., and E.
• 150 = M. that the P. would W. (and 
150 M.)



𝛃, 𝛎, 𝛒

• 31 = S. on a C. B.
• 44 = K. on a P.



𝛅

• 92 = D. for P. G. in M.
• 26 = W. to L. your L.



𝛇

• 1700 = L. under the S.
• 15 = D. in S., A., J., and N.


